1. Fromthe given figure we can conclude
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(a) AABC = APQR (b) AABC = AQPR
() AABC =ARPQ (d) ABCA =ARQP
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. The triangles given above are congruent by

(a) SASAxiom (b) AsAaxiom (¢) RHSAxiom (d) 555 Axiom.

. AABC=AXYZ, ZA =55 and BC =3.5 cmthen £X and zy are respectively
(a) 45°.5.5cem (b) 55°.35cm (¢) 3.5cm,45° (d) 65°3.5cm.

. APOR=ABAC, AB=(3x-2)cmand QP = (2x + 3) cm then x =

(a) 1cm (b} 3¢cm (c) 5¢cm (d) 2cm

. Which one of the following measurement cannot be sides of a triangle.

(@) 3,4.5 (b) 5,8, 12 (c) 7.6,4 (dy 4,12,7
. InAABC,AB=13cm, BC =5 cmand CA = 12 ¢m then which angle will be greatest
(a) £A (b) £B () £C (d) all are equal
. Intriangles POR and STU, PQ =TS RP = US then which two angles should be equal sot
APQR = ASTU by SAS
(a) LP=4T (b) L£O=4T () LZR=4ZP (d) £P=4LS
. In given figure longest side is
(a) PO (b) OR (c) PR (d) all sides equal.
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9.. Inthe given fig two triangles congruent. Name the two triangles in order and by whic]

congruency
(a) AABC =APRQ, by SAS (b) AABC = APQR by SS§
(c) AABC = APQR by SAS (d) AACB = APQOR by SAS
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Fig. Q. 1

P

10. AMABC=ARPQ if ZA=30° and £Q =T70° than LC =
(a) 30° (b) 80° (cy 70° (d) 100°

A4

Fin N 2

AABC is an isosceles triangle in which AB = AC. Side BA is produced to D, such that AD = AB.
Show that £BCD 1s aright angle.

Two sides AB, BC and median AM of one triangle ABC are respectively equal to sides PQ, OR
and median PN of APQR. Prove that (i) AABM = APQN. (i) AABC=APQR.

If two altitudes of a triangle are equal then the triangle is an isosceles triangle.

In Fig. AP Lland PR> PQ. Show that, AR >AQ.

0 P s R

Show that the difference of any two sides of a friangle is less than the third side.

In the given figure, AD=AE, BD=ECprove AB=AC,
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B D E C

(' is any interior point of AABC, prove that OA + OB+ OC > 21 (AB+AC+BC).

It P is a point on the perpendicular bisector of a line segment AB,
then prove P is equidistant fromA and B.

In right triangle ABC, right angled at C, M is the mid point of hypotenuse AB,
Cis joined to M and produced to a point D, such that DM = CM. Point D is joined to point B.
Showthat: (i) AAMC = ABMD. (i) £DBC isright angle.

(i) ADBC=AACB. () cM = %AB.

10.

In Fig, AC=AE. AB=AD and ZBAD = ZEAC. Show that, BC = DE.

E
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